=S i
] O?\.. " 1 1 2,}“/”4, y N N
| [ I\\ N l&‘(t[(’osg > (‘c\'-ﬁ)l‘f«lﬁvﬂ‘[[?‘. 17 I (( o8 -/,“;)w o’
| a H:lf[(ﬁ(s.np of 171 PRy [ Ko 1h
K EIO [?xalzu \7\-{“ = (BB &-kb)=z (k=) 0xb
Rl = e D)= 20kl BT =3 )
\ | 2 9 % PR . @4 k4277 K
3. Apcmmsan B R, R, AR 2oTiE o xN vl
| _
| fe= (1.1y AC= (3.0,2) Mr= (X172, 7—)
973 - . - (5
X4

'{—2 -
“é 2 2(e) 1) -32=0. er 2xey -32 =0
¢ &EudeE®i G EA(x-2-3)

DFEA T HOeSo=S=5F —(] ~ 3\ zo >\:~‘~2‘
9 M, - LF)(-L‘J-E{—H;:O.

(2 ‘9‘3%@31 ((F)(*Ij *7)#//(@”( 2+12)z0 ‘(2 F(_Mtzyw
e A e I {Clc;:qz\,o
9L ‘577('77—#/2% —16’7:1
721 3¢5 (- ( Gr o2 320

32’4'7]*‘7 z —/6? =0
§ @l LACT,-27), B0, D EE A wh ikl Lk
7= (-1,-5,2)

Lr_f};@" f(:

i T N
b3 L, B 0= (-292) ACE
RUF T xTa Ak < ( § =3, | E
PO

=
(8) N 2%n
G- 3 ?- \/%’(ﬁ
-3 . i
29 2| T fd4ep oo | 2BS =
15 1o @/;,,;
*%é"cbb_yﬁvihg, Tu T e 7/20
Sewad Y
”W@W’iﬁr%mw AT m, 7
I= Ff;h]* ""”’ 'ﬁé@é&%v
(Tx 'C'Ll i
@T)\cﬁ: v J
.55
-2 ﬁ 2

] (=5 -0 ) R ls s [Fedat =35 W

dy
y) !



(C) '« ‘J \ -’S—(“’? E?% h‘i';:(_:)ci:’ (=<5, v, 3p)= § (-

s .;,“7—,(7),
Wﬁﬁﬁ% Y- - (,3’_2“,3
1&.‘?7 I L %t 2 abxY
W =T, A L S/Lw?&/kﬂ%(b { 2 = /::_:f',
T La &% ;?&ytLi’ﬁI) e/
—i X L .
DA BB ALy
-—;-’11
K= %le = —7; _jz (E ! Cfs%,“é, ‘_;() ,qu ,‘%*(1 /J
=3 ? 2 T o b
W b ()42 (#) #7250, B0 (X +2]y w([L+TE=0. L (D)
Z ¢ )
S -S3KR-b(4¢7) -3/ (2-0=, PP -SBEOY -3(2 42520,
7% (0 | xelyadz wifz=o E AR
-5Ix ’bj—.g(z +22z0 . ! i % | ,5%3;‘; |
z z -
X L T 2L
@ YEABH L B. p1. 2
%3 ?az M+l‘j’¥, = @%ﬁ X= —i \Qd;ﬁi;gg {7 (_Eﬁ ¥ hL)
Xl MR iR , (J' ‘3 - 3. 3,3 )
I T ez o 1= L
v - 2 .2
RIAPE 3, -5 ), AR S ppeRre (=D (-Y -g) o

£
3
c—--2 2
%% @C{(x ' 2)= YYy+Z-¢ T ("3‘, 3.3

2§ TC ey, 2y (Y, |€E) ‘74l(219) (t.2,0)

WP B3R FE oG =(r2,),
MEmHFL . x4+ 2 (f)ze. G Xty -¥=p

3.5 X, 58] i ;
\3’(:% LR T —gf',f% %)'—'—' (z,-5,8),
&Y - e = o= L [ X A2 ) R
= (Lt J-C"‘(ﬁ,%,% Vet T2y 3. 7))
. Y- )
Rk c % E —‘L§ ~-i-L(—;’ V2 P (x.,c’alg,>-}5%~£{fﬁ__
SR LLLYS T I TR s A . 5. s
X s "l
A\ & t-%

w (""



2
-
Ol S5 P00y A Bp B A X (__.)+<— 2076% )
) Z . 9(47*(522—- (;'Z.’Z?
7~ %‘W\@S*« 7(+7 r(ze) iz ¢

PO A (0,2, A1) ‘%f% Fe= 2
"2 ¥ i Yty Ay +ue-br N0 zo, Pp X (A1 2—b=0o

w2y g A ) e ) K*(Ad)j+2£-6=0 Ko BB E
A = [ 2%(A) |

— T (=2 ' =
TOw oy B RN
W‘J%éwb (\r*’)XHJ—S*‘\‘J*Z% 6=2 % (=5 #yx <5V 226 =0

(Ol/ﬁg‘. /’ﬁvz 2

Xtz =Qq

Qéi" 1 Bz | Gmelebyeatsg gy aalew| -an2 g0’
X

-

L

v]¥%: G2 {3 (R ay, mg%? Wy 2D g 2
B8, o (-2 7",3’? lale 2 )z,

\«\%

©

fik 7L
N EA
(BB g A ARIRE, 4’7\/59)&¢$/“fi 5
1%%5 7% B 3% 1227 A4 (ﬁKL kC= ath-T cd ap]m?gd’?ﬁ\
g IAenmi, 38 A ity (rkmw'»a@vﬁx\ B
1 5 o 0L 5 O A% b A B A
:‘Ez’s‘c,%@‘
LE: 055 -3k 0@ieis 03154
1.¥%&- ®=—'==/———"7Hﬁ wﬁ,;’\ Fa
3.5k 0M: © %3y f??_o_ Oy QFRt

t RS 0% O, %Ei&/} &, O m.
CELK
\Cé’(‘rﬁ?ﬂn M1 2 m‘:lw.—*r;&z.zz-i Y ZaeZ % W@%



